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%WW% %mw% 3R —xy BT TOH - 18
(vi) TS 0.3a,-0.6ab 3R 0.5b
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x+y, 1000, x+x +x +x*, 7+y+5x, 2y-3y’, 2y-3y"+4y’, 5x—4y+3xy,
4z-15z°, ab+bc+cd +da, pgr, p’q+pq’, 2p+2q
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(iii) %ﬁgﬁ_x%xufﬁ4q‘q’%‘3¥lﬁmﬂ%’a‘§q33=rfﬂ=rﬁfﬁrﬁﬁ@r%ﬁﬁlﬁ
|
(iv) @i 7+ y+5x H 3T g U U8 Ush fAug 7|
(v)  &@iP 2y-3y* H2 UG § 9L 98 U& UG o
(vi)  @ifP 2y-3y* +4y’ ¥ 3 Uc & UL I8 T Aug B
(vii) aifs Sx—4y+3xy H 3 UG ¢ 3UMT I8 U g g
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(i) ab—bc,be—ca,ca—ab
(ii) a—b+ab,b—c+bc,c—a+ac
(iii) 2p°q" -3pg+4.5+Tpg-3p°q°
(iv) P+m’,m’ +n,n° +1I° +2lm+2mn+2nl

g3 3:
(i) ab—bc,bc—ca,ca—ab (ii) a—b+ab,b—c+bc,c—a+ac
ab—bc a—b—ab
+bc—ca +b —c+be
—ab +ca —a +c +ac
10 +0+ab+0+bc+acl
3, IR0 &I 3fct:, TRT ab+be +ac. B
(i) 2p°q° —3pg+4,5+7Tpg-3p’q" (V) +m’,m’ +n’,n* +1°,2lm+2mn+2nl
2p2q2_3[7q+4 l'+l?1'; P
_3p1qz +7Pq+5 + s m +l12
+1 +n
7 - 49010 + 2lm+2mn+2nl
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(a) 12a—9ab+5b—3. B ¥ 4a—Tab+3b+12 ®! UCZU|
(b) Sxy—2yz—2zx+ 10xyz. B H 3y +5yz —7zx DI G

(c) 18=3p—11g+5pg—2pg* +5p°q. B 4p°q—3pg+5pg* —8p+Tg—10 B GTZYI
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(a) (b)
12a—9ab+5b-3 S5xy—2yz—2zx+10xyz
4a—Tab+3b+12 3xy+5yz—Tzx
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8a—2ab+2b—15| | 2xy—7yz+5zx+10xyz
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5p’q-2pq* +5pg—11g—3p+18
4p’q+5pq° -3pg+T1q —8p—10
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